de Broglie Matter Waves
Useful Formulas So Far:
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v = c = speed of light = 3.00 x 108 m/s

f = frequency (Hz)

( = wavelength (m) 1 nm = 1 x 10-9 m
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E = Photon energy (Joules) 

h = Planck’s constant = 6.626x10-34 Js

f = frequency of oscillations (Hz, s-1)

Not in the data packet E = hf = hc/(
de Broglie – If light can act as a particle, then matter can act as a wave. (35 min)
	The wavelength/momentum of a particle:
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p = momentum (kg m/s)
h = Planck’s constant 

( = wavelength (m)

	The momentum of a particle:
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p = momentum (kg m/s)
m = mass (kg)
v = velocity (m/s)



	Accelerating a charged particle with voltage
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V = Accelerating voltage (V)
e = elementary charge (1.602x10-19 C)

m = mass (kg)
v = velocity (m/s)
	


Davisson-Germer:
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Example 1: What is the de Broglie wavelength of a .50 kg ball going 40. m/s?
Example 2: Through what potential must you accelerate an electron so that it has a wavelength of 1.0 nm?
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